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In Exercises 1=

5.C(6,0),r=V15 (X D .
| 7. The center is (2. 3); the circle passes through (5,6). (x ~2)" + (y =9

| 8. The points (8,0) and (0, 6) are endpoints of a diameter. (x — 42 + (y-3)
9. The center is (5, —4) and the circle is tangent to the x-axis. (x = 5%+ (y+
10, The centeris (=3, 1) and the circle is tangent (o the line x = 4, Seoboon. |
1L, The cirle i tangent o the -axis at (4,0) and has y-intercepts —2 and .53

12, The circle contains (=2, 16) and has x-intercepts —2 and ~32. See below
G4 (5P =25 12 (c+ 170+ 0¥

10, (x+3°+(y-17=49 11.
ks sk eanslion ln center-radius formi. Give the center and radius.





image2.jpeg
Additional Answers

Written Exercises

18— 12+ (y-42=1
C(1,4), r=1

14 (x= 22+ (y+3°=9

Z3),r=3





